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1.

Write your Roll No. on the top immediately on receipt

of this question paper.
All questions carry equal marks (15 marks each).

Attempt any five questions,

Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.
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1. “Iﬁ spi‘te‘of the fact that_skill and knowledge possessed
by the Indian artisans and merchants were far closer
to thése of their counterparts in Europe in the early
nineteenth ‘centu-ry,,lndian artisans and merchants did
not grow becausg of lack of state support.” How far

do you agree with this statement? Explain.
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The structure of workforce changed little during 1881-
1951 in India. Discuss in detail the rezllsons‘behind

this phenomenon.

WA A 1881-1951 & TR sprafR &l WA W AR
F IR N wE Y B aw W Ry Rhee
EInL |

3. Was it the conquest of famines in the 20" century

due to the humanistic government policies or
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favourable climatic conditions that led to mortality
decline and the consequent surge in population growth

in India in the 20™ century? Discuiss.
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4. “It was not commercialisation but technical stagnation,
poor resource endoWrﬁent and structure ‘of land rights
that led to a prolonged period Qf agricultural stagnation
in India.” Db you agree? Give reasons ‘in support of

your answer.
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Available ev.ide-nce suggests that railways contributed
in the gro'wth of agriculture tfade, genération of new
jobs (both diréctly and indirectiy), and heiped in the
progress of modern industries in Ihdia-. Yet in the
long run the railways failed to alter the basic structure

of the economy. Why? Discuss.
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6.

Indian ‘Bazaar’ were indigenous and sharply distinct
from the European owned industry in India, however,
both contributed to the development of the modern
industry in India, perhalps, the former more than the
latter.” Do you agree? Give reasons in support of

your answer.
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The pattern of development of Bombay industrial

~ workforce was quite different from the industrial labour

force engaged in TISCO plant in the early 20tk cgntury.

Explain.
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8. Critically examine Washbrook’s contention that -
the East India Company goviernment in India,
followed very regressive economic strategies that
hurt the Indian economy and also failed fo proyide.
any benefits to British (and Indian)- busifess
intgresfs. And yet, the British parliament did not

deem it necessafy to stop the EIC, for quite rational

reasons.
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